Kiz Mobility
2

Tilt IV Pole

DETAIL B

08-06-2025



[tem Number  Part Number  Description Quantity
1-13 502409 IV Pole Assembly Tilt 1
1,2,3,6,7 502401 IV Pole Top Clamp Assembly 1
8,9, 10, 11 502408 IV Pole Bottom Clamp Assembly Focus 1
1 102766 Spacer 3/8R. X 7/16 x .218 ID. 1
2 102767 Handle wM5 x 32L Threaded Stud 1
3 101843 M5 x 20 SHCS Blk Zn 1
4 002581 IV Pole Outer Tube 28" Height 1
5 002585 IV Pole Upper 1
6 002395 Footrest Clamp Left LW 1
7 100657 M5 Nylock Nut Blk Zn 2
8 100780 M6 x 25 SHCS zC 2
9 002685 B/O\ITV%IIeHC(:)II%mp 1-1/8" 1" Thru 1-1/4" w/ Cross 2
10 002686 IV Pole Clamp 1-1/8" 1" Thru 1-1/4" 2
11 102768 M6 Barrel Nut 2
12 100532 Tube End Plug 1 1/8" 1
13 102769 Snap Button Plastic 1

08-06-2025




